16mm(5/8")
MINI RIGGING KIT

500 mm =20"
500 mm = 20"

Base
SKU: GFLB - 1 Piece

38 - 52mm
HALF COUPLER CLAMP SET

SKU: GFCA8500-$- 2 Pieces

1/4 - 3/8 STARTER PIN
B 16mm (5/8) - 80mm ( 3" 14) LENGTH

SKU: GFP-80-1438 - 16 Pieces

CHEESE PLATE
n M n
SKU: GFCP-2 - 1 Piece

@ sku: cFuc - 2 Pieces

1/4 - 3/8 STARTER PIN
¥ 16mm (5/8) 40mm (1" 57) LENGTH

SKU: GFP-40-1438 - 6 Pieces

16mm (5/8) SWIVEL CLAMP 16mm - 19mm Camerarod 16mm (5/8) 90°  16mm [5/8)
SKU: GFSC1616 - 26 Pieces _ SWIVEL CLAMP SET FIKED CLAMP SET PARALLEL CLAMP SET

. SKU: GFSC1619 - 2 Pieces SKU: GF1616FC - 10 Pieces SKU: GFPC1616 - 2 Pieces

16mm (5/8) PRECISION RODS END THREADS omm HANDLE HEX BALL
END ALLEN KEY WRENCH
SKU: GF16-500TR - 500mm (20”) RODS END THREADS - 6 Pieces q. SKU: GFHHB - 1 Piece
SKU: GF16-100TR - 400mm (16”) RODS END THREADS - 6 Pieces vE b 8
SKU: GF16-300TR - 300mm [12”) RODS END THREADS - 6 Pieces ""3
SKU: GF16-200TR - 200mm (8”1 RODS END THREADS - 6 Pieces === RLLEN KEY ALLEN KEY
SKU: GF16-100TR - 100mm (4”) RODS END THREADS - 6 Pieces INCH STUBBY SET METRIC STUBBY SET
SKU: GFAKIS-S - 1 Pisce SKU: GFAKMS-S - 1Piece
500 mm - 20"

~16mm [5/8) M12 RODS CONECTOR
& >0y SKU:GFM12RC - 16 Pieces

gripfilm.com




16mm(5/8")
MINI RIGGING KIT

150 mm [ 6" ) SUCTION CUP

SKU: GFSC-150- 4 Pieces

120mm (4" 3/4 ) SUCTION CUP

SKU: GFSC-120- 6 Pieces

90mm (3" 1/2] SUCTION GUP

SKU: GFSC-90- 2 Piece

500 mm = 20"
500 mm = 20"

1/4 STAINLESS STEEL
BOLT SET

SKU: GF14BSM - 1 Piece

-10 pieces 1/4 x 10mm (3/8)

-10 pieces 1/4 x 19mm (3/4)

-10 pieces 1/4 x 30mm (171/4)

-10 pieces 1/4 Nuts

-20 pieces 1/4 x 3/4 Grub screw

-4 pieces 1/4 to 3/8 adap.

-1piece 1/4 to flash photo cameras
66 pieces SET INCLUDES

3/8 STRINLESS STEEL
BOLT SET

SKU: GF38BSM - 1Piece

-10 pieces 3/8 x 16mm [5/8")

-10 pieces 3/8 x 19mm (3/4")

-10 pieces 3/8 x 30mm (171/4)

-20 pieces 3/8 x 19mm (3/4”] Grub screw

-10 pieces 3/8 Nut

-10 pieces 3/8 x 25mm (17 Countersunk scre
10 pieces SET INCLUDES:

4mm - 12mm Stainless Steel
FLAT & FENDER WASHER SET
SKU: GFW-S -1Piece

-10 Pieces 4mm Flat washer
-10 Pieces Smm Flat washer
-10 Pieces 6mm Flat washer
-10 Pieces 8mm Flat washer
-10 Pieces 10mm Flat washer
-10 Pieces 12mm Flat washer
-10 Pieces 4mm Fender Washer
-10 Pieces Smm Fender Washer
-10 Pieces 6mm Fender Washer
-10 Pieces 8mm Fender Washer
-10 Pieces 10mm Fender Washer
-Plastic component hoxes

110 pieces SET INCLUDES

gripfilm.com




16mm(5/8")
MINI RIGGING KIT

R RES/s
<< %)

IRP
ARPOp,
LNy

pN0LING
@

CK PR

2o,

—

)

)

10/
S Nb"o
5 &

EMPE/
SOIERS,

% S
3 5
()
3 »

LENGTH : 832 mm (32 3/4")
WIDTH : 466 mm (18 3/8")
DEPTH : 279 mm (11”)

TOTAL WEIGHT : 28Kg (62Lh)

gripfilm.com



16mm(5/8")
MINI RIGGING KIT

gripfilm.com





